Jody has 8 more tennis balls than Sophia. Sophia has 4 tennis balls. How many tennis
balls does Jody have?

Sentence Form

Jody has tennis balls.

Visual Model

Who and/or what

Jody's tennis balls

Who and/or what

Sophia’s tennis balls

Computation
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Ryan has 7 tennis balls. Derrick has 10 tennis balls. How many fewer tennis balls
does Ryan have than Derrick?

Sentence Form

Ryan has ________ less tennis balls than Derrick.
Visual Model
Who and/or what I
Ryans tennis balls |

Who and/or what

Derricks tennis balls

Computation
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